Befehl einlesen
Programmzahler erhéhen
load RO,#z ausflhren
Programmzahler erhéhen
load RO,(R1) ausflihren
Programmzahler erhéhen
store RO,(R1) ausflhren
Programmzahler erhéhen
add RO,R1 ausfiihren
Programmzahler erhéhen
sub RO,R1 ausfiihren
Programmzahler erhdéhen
inc RO ausfiihren
Programmzahler erhéhen
dec RO ausfliihren
Programmzahler erhéhen
Inhalt von Register 0 prufen
Inhalt von Register 0 priifen
Programmzahler erhéhen
Programmzahler erhéhen
jump #z ausfihren
Programmzahler erhdhen
jump #-z ausflihren
Programmzahler erhéhen
Programmzahler erhéhen
load R1,#z ausflihren
Programmzahler erhdéhen
load R2,#z ausflihren

Programmzahler erhéhen
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0 | egal egal | egal | egal 1
1| load Rx,#z 0 egal | egal 2
2 | egal egal | egal | egal 0
1|load Rx,(Ry)| O 1 egal 3
3 | egal egal | egal | egal 0
1| store Rx,(Ry)| O 1 egal 4
4 | egal egal | egal | egal 0
1|add Rx,Ry 0 1 egal 5
5| egal egal | egal | egal 0
1 |sub Rx,Ry 0 1 egal 6
6 | egal egal | egal | egal 0
1]inc Rx 0 egal | egal 7
7 | egal egal | egal | egal 0
1|dec Rx 0 egal | egal 8
8 | egal egal | egal | egal 0
1| bneqz Rx 0 egal | egal 9
9 | egal egal | egal ja 0
9 | egal egal | egal | nein 10
10 | egal egal | egal | egal 0
1| jump #z egal | egal | egal 11
11 | egal egal | egal | egal 0
1| jump #z egal | egal | egal 12
12 | egal egal | egal | egal 0
1 | nop egal | egal | egal
1| load Rx.#z 1 egal | egal 13
13 | egal egal | egal | egal 0
1| load Rx#z 2 egal | egal 14
14 | egal egal | egal | egal 0
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